Bk EFY #BPT HETR it RE 1 2 3 Rk JEL
59 I EE BN |7 7Yy 7| HRIIR|KsGYMER 58.75 1325 0 5 132.5 1
59 A0 5k B |7 7Yy 7| #5)IIZ|Y.C Power Bear 58.75 92.5 100 5 100 3
59 =Wk BN |7 7Yy 7| HENIR|KsGYMER 47.25 110 0 0 110 2
66 IR 2 B Bl | v 7 y o[ mRINE|EA 61.15 102.5 110 115 115 2
66 HE OBt BN |7 7Yy 7| #5)I1R|ESQUATIR
66 BE mE Bl | v 7 y o[ mRINE|EA 64.25 135 140 5 140 1
66 A B BN |7 7Yy 7| HENIR|KsGYMER
66 B AR Bl |7 7>y 7| #R)IIE|ESQUATIR 64.65 95 0 100 100 3
74 HE #ER BN |7 7Yy 7| BRNR|#ENT—Y 7T 4 v I HRIRmEBP 73.05 90 95 102.5 102.5 3
74 =K BN Bl | v 7y y o[ #mRINE|EA 73.75 1125 117.5 0 117.5 2
74 EL/N BN |7 7Yy 7| HENIR|KsGYMER 69.85 1325 5 132.5 1
93 RER S Bl |2 7vy 7| #R)IIE|K'sGYMESE 89.6 80 0 0 80 2
93 RiE BEX B [s7 vy s HRIE[EA 915 150 155 160 160 1
93 PRI E B |25y o #@R)IIE[ESQUATIR
93 il B 2 7y 7| HRINB[ERYF I N=X
(=g BEFH Eilpl HERFE g RE 1 2 3 i JEAL
83 BE AR [Tv vy 150 170 190 190
83 FH B BN |7 7Yy o[ BFIR|EA 79.75 142.5 150 155 155 3
83 HEE EIE Bl | v 7y y o[ #mRINE|EA 81.1 95 102.5 0 102.5 5
83 WA E BN |7 7Yy o[ BFIR|EA 81.9 155 5 5 155 4
83 Wit ER Bl | v 7 v o[ mRINE|EA 82.7 152.5 160 167.5 167.5 1
83 BB 2R Bl | vy y s ERIIE|EA 82.75 160 5 5 160 2
83 B AHE B |7 7>y 7| #R)IIE|ESQUATIR
120 B KE AR |2 7Y 0y 7| #R)IIE[ESQUATIR 112.95 190 200 210 200 1
120 A BE 8B |25y o #5)I1E|Y.C Power Bear 117.05 100 110 5 110 2
+120 #A Bt [Trvada|ssoy | wmRINE[EA 145 0 150 150
Bk EFZ #BPY HEFTFE g ®RE 1 2 3 oIk J[:3a
AR BB 75y
W B 59y 90 100 110 110
66 HEH A& BN o7y o EREE | FL—=> Y LGOAL-B
74 Wwal B B4 |s5v v | FEE |KsGYMTFE 71.6 65 75 715 715 2
74 B IR A ER BN |25y o BERE |EA
74 BH #F B4 /Ty y | HRE | FL—=2 Y LGOAL-B 73.4 107.5 5 117.5 117.5 1
74 B3 EMt BN |25y o BERE |EA
83 RE AR BN o7y KB |K'sGYM 79.05 170 190 210 210 1
83 BA EE BN o5y v | mERE |EA 75.3 82.5 92.5 97.5 97.5 3
83 EA A B4 (o5 s mREB [/ -UIvy 82.4 110 115 5 115 2
105 $HA R Bl | s5vy o BRIIE[EA 104.9 0 0 0 0
105 TR HWE B (s v | BRNE|SE/NT—Y 7T 1 v S HRANEBP 99.45 150 0 0 150 1
105 B KR BN |oFvy o ERE | L —=> YV LGOAL-B 101.2 115 125 5 125 1
120 1#1E BB B4 |s5vy | HREB | L—=v Y LGOAL-B 117.8 160 0 170 170 1
BB [ B EFY Eilpl HE TR it RE 1 2 3 Rk JEfL
8 KA s 59y 95 100 107.5 107.5
7| WERZH V50w 115 0 120 120
47 6 |#bL BT 053y 7| #BR)NE|K'sGYMEER 46.1 35 37.5 0 37.5 1
52 5 |wWzrshrh 404y T BRNB|R—=RT—TH 2 b L—=v 7057 51.65 5 82.5 5 82.5 1
57 4 | Kl BF 77y 7| WE)IE|YPTG 55.9 87.5 92.5 5 925 1
63 3 |BEE #EY 7 vy | RBR [RBENT—-V 774 v 7He
63 2 | E K 75y | BEIIE|KsGYMIEE
84| 1 KE OWT 052y | )R KsGYMEER
PR EFZ #BPY BT 2 g = 1 2 3 ARk JEL
66 KEF B B |74y 7RI |K'sGYMESE 64.4 0 220 0 220 1
66 HE BA B |A o4y T | #5)IE|K'sGYMEEE 61.95 0 0 0 0
66 B &= SR |A 74y 7| #5)IIE[ESQUATIR 65.9 140 150 5 150 2
83 RE AR B4 (A 04yT| KRAF [K'sGYM 78.65 235 255 270 270 1
83 EH A BR |1 74y 7| #5)IIE|ESQUATIR 82.3 180 187.5 5 187.5 2
83 RARKIE Bl |4 74y 7| HR)IE|K'sGYMESR 81.25 0 0 210 210 1
83 Al R B |74y 7RI K'sGYMESE 82.45 140 0 0 140 3
93 K3l JBE— B4 424y 7| demE [BURSTLIMIT 90.35 0 180 0 180 1
93 =l ¥ N BA A 04y 7| #HENE|YPTG
105 JEE B Bl |4 74y T HR)IE|K'sGYMESR 103.05 130 0 140 140 2
105 S PN B |74y 7RI K'sGYMESR 95.05 200 225 0 225 1
BR[| By EFY Eilpl HE TR it RE 1 2 3 R e
59 8 | BiBE—R B (A o4y T BmR)NE[EA 55.4 80 5 5 80 3
59 7 = B[4 74y 7| #R)E|K'sGYMESR 48.2 115 125 135 135 1
59 6 | ®t EE Bl |4 74y T HR)IE|K'sGYMESR 57.7 95 5 5 95 2
74 5 A BE A (4047 FER |KsGYMFE
74 4 | BY s BN |44y T| TEE |KsGYMTFE 72.4 0 120 125 125 1
74 3 B B B[4 74y 7| #R)E|K'sGYMESE 70.65 135 5 5 135 1
74 2 B E Bl A4y T HR)IE[EA 70.95 85 0 95 95 2
74 1 =f XK B[4 74y 7| #R)E|K'sGYMESE 67.5 70 0 5 70 3




